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The figures in the margin indicate full marks
for the questions.

Answer any five questions.

1. (a) Define Usability. 3
(b) Briefly discuss the five “E”s of Usability.
10

(c) Is there any difference between Software
Engineering and Usability Engineering ? 4

(d) What is Participatory design ? 3

2. (a) With example discuss— i0
(i) Balance, :
(i1) Unity,
(iii) Proportion and
(iv) Rule of Thirds.
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(b) ‘Aesthetics of an interface is subjective in

nature’. — Justify. _ 5
(¢) Compare low fidelity prototype with high -
fidelity prototype. 5

3. (a) Consider a case when you are typing your
assignment using any word processor. You
need to import a picture from your “download”
folder and paste it in your document. Once
it is done you start writing your assignment,
What will be the operators if we use KLM
method ? How much time is required to
complete this task ? 10

(b) Consider you have touch screen mobile. You
want to open an app which is 2 ¢m away from
your present position of index. finger. The
icon width of the app is 0.5 cm. Compute
the index of difficulty using Fitt’s Law. It has
been observed that 1 second is required to
move your index finger. What will be the
throughput ? 10

4. (a) Write down the Nielsen’s ten heuristics for
usability. 6

(b) Consider any mobile application/web page.
Use Nielsen’s heuristic to find out at least
Seven usability problems. 14
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5. Consider, you have designed an eye-gaze based
typing. A sample text was typed by five users.
They also performed the same with the standard
key board (hardware) and virtual key board. All
the tasks completion times are given in the
following table. Use 1D ANOVA to prove the
efficacy of your keyboard with the confidence

level 5%. 20
User# | Eye-gaze | Standard Virtual
Keyboard Keyboard
: (seconds) | (seconds) (seconds)
1 5 8 4
v 3 7 7
3 4 6 8
4 5 3 5
5 1 9 4
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F table
Critical values of T for the 0.05 significance level :

1 2 3 4 5 6 7 3 9 10

1 161.45 199.50 215.71 -224.58 230.16 233.99 236.77 238.88 240.54 241.88
2 1851 19.000 19.16 1935 1930. 1933 1935 1937 19.39 1940
3 1013 955 928 912 90f 894 88 885 881 379
4 771 694 659 639 626 616 609 604 600 59
5 661 579 541 S19 505 495 483 482 477 4M4
6
7
8
9

599 514 476 453 439 428 421 415 410 496

559 474 435 412 397 387 379 373 368 364

532 446 407 384 369 358 350 344 339 335

512 426 38 363 348 337 329 323 318 3.4
10 497 4,10 371 348 333 322 314 3.07 302 298
11 484 398 359 336 320 310 301 295 290 285
12 475 389 349 326 311 300 291 285 28 275
13 467 381 . 341 318 303 3292 283 277 271 267
14 460 374 334 311 296 285 276 270 265 2.60
15 454 368 329 306 290 279 271 264 259 254
16 449 363 324 301 285 274 266 259 254 249
17 445 359 320 297 281 270 261 255 249 245
18 441 356 316 293 277 266 258 251 246 241
19 438 352 313 290 274 263 254 248 242 238
26 435 349 310 287 271 260 251 245 239 235
2] 433 347 307 284 262 257 249 242 237 232
22 430 344 305 28 266 255 246 240 234 230
23 428 342 303 280 264 253 244 238 232 228
24 426 340 301 278 262 251 242 236 230 226
25 424 339 299 2.7 260 249 241 234 228 224
26 423 337 298 274 259 247 239 232 227 2122
27 421 335 296 _ 273 257 246 237 231 225 220
28 420 334 295 271 256 245 236 229 224 219
29 418 333 293 270 255 243 235 228 222 218

6. (a) What are the problems in Hierarchical Task

Modelling ? 5
(b) Design a CTT for writing messages using our
mobile phone. / ~ 7 15
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